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(Skill Enhancement Course)

Answer the Questions from any one Option.

OPTION-A
( E-Commerce)
Paper : COM-SEC-4014
OPTION -B
( E-Filing of Returns)
Paper : COM-SEC-4024

Full Marks : 50
Time : Two hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.
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OPTION -A
Paper : COM-SEC-4014

( E-Commerce )

Answer any four from the following :
1x4=4

AR “_ fReman sifdbrs Tt 3t ¢

(ij E-Commerce refers to
TG IO
(a) buying products
AT @ 74
(b) selling services

CRPTR Ree! 1

(c) selling products

A R =t
(d) All of the above

G2 RN
(i) Which segment focuses on consumers
dealing with each other ?
(RFIFC! QS TS ST PISHR (IS (F0
TS Wy fica e
(@) C2C
fosf
(b) B2B
GEG
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(c) C2B
o

(d) P2P
o1t

(iii) Electronic commerce can increase sale
and costs. (Fill in the blank)

g AeE [l g DT AT o 07
1 (T A2 2f7e 70)

(iv) IP stands for

wiefet 3 o T
(a) Internet Protocol

BOIRES 2ATHREE

(b) Internet Programming
THRE i

(c) Internal Program
SISFES I RO

(d) Intra Program

! A

(v) Internet is owned by
LORES AT

(@) Microsoft Corporation

NIFG IO

(b) Tata play
BiBt (2
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(c) Facebook 2. Answer any three: 2x3=6

SIFAE Rz fofbrT Tes forai 3
© S._;;;; t;:]\lmmzz\;e (i) What is an e-business model ?
' BN I e
(vi) E-payment is doing payment 3 ) = _
(Fill in the blank ) (i) What is a digital signature ?
fofecoet s 5
TolfRTi (R W SRace 1 AR |
(3T} 1% of79 ) (iii) State few advantages of web add.
(vii) E-marketing provides i R Retsla (Lo e T 74|
TqEBrs e (iv) Define e-wallet.
(a) national coverage ) Ao Ak |
AT PO (v) What is cryptography ?
(b) local coverage fEFTobIalIe e 2
BN FONIS (vi) What is phishing ?
(c) global coverage e f5e
CollETR I TS

(d) None of the above 3. Write short notes on : (any two) Sx2=10

@AW 5y o it ¢ (Rt 751)

(i) E-commerce revenue model

(viij) <BODY> is a tag.
(Fill in the blank) TS R T
<BODY> b 9t | (i) Basic structure of a HTML page

(7] 12 979 1) 51 RN FPR G s
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(i) Technology used in e-commerce

g3ifdere IS e

(iv) Online banking

(v)

(vi)

4. Answer any three :

eI (@R
IT Act, 2000
i3 @, 2000

Cryptography
fereorart

10x3=30

fRicrzt fofablq Ted fe ¢

()

()

(iii)

Define lists. Explain different types of |

lists used in HTML with one simple
example. 2+8=10
wIfeTeIT Ficeel et | @1 v Swigaei e
G HGANGE-© RS Ko e il 3ot
40

Write the salient features of the IT Act,
2000.

@iz 3, 20007 T2 WREER B

What is online shopping ? Explain
different steps involved in the online
shopping process. 2+8=10
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(v)

(v)

(vi)

wEns W 2 Teeise 2Rk aferae sede
Rfeq *MEFaE@R 39 |

What is electronic payment system ?
Describe different methods of electronic
payment system. 2+8=10

T AReNY 2l 2 SEghe sifRei
AaeTis [Jfen o1afs adft

Write about different factors involved in
e-commerce website design.

T (AR Teizae Tuve [fey TR
e forat |
Write about different steps and

techniques for promoting an
e-commerce website.

Tb (IR0 WO 2o AR R[iew swes
% s [REem B

(vii) Describe e-commerce security threats.

B-31foey FEE O 3909 T4 |

(viii) Describe the major e-commerce
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business models.

45 BTG TP FCCCI I 541 |
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OPTION -B
Paper : COM-SEC-4024
( E-Filing of Returns)

Say whether the following statements are
True or False : (any four) 1x4=4

wore frat RYFoTR wa @ sz @Rl 2 (R

5If4517)

(i)  E-Filing is mandatory for a company.
BT (P A E-Filing Ao 27 |

(i)  Filing of ITR is compulsory if a tax payer
has deposited an amount of Rs. 1 crore
or more in one or more than one current

account.

W T FIOR (A GOt I SreIRT @I
BT GET @ (i 31 wets it Bt Tl
AC, (SECFIS ITR TR AT Aol
=

(i) A person can hold at least two PAN.

4T f&TH &fS P78 751 PAN 91fRe A |

(iv) Assessment year is always a period of
12 months.

fdige 3 IR 12 Sy =7 | |
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(v). For submitting Form 15G, the applicants
must be below 60 years of age.

Form 15G ©¥ 9K @ @I T

60 TR T I I |
(vi) IGST is collected by State Government.

GFPS GST IS HIPIE MAZ IR |

(vii) GST signifies one state many tax.

GST (3 &3 ISy I2 79 iz |

(viii) The burden of GST is borne by the
consumer.

GST I @& Toreieis 35 FE |

Answer any three of the following questions :
2x3=6

=fike e R ofAsTves 31 3
(@) Whatis ITR-V ? |
ITR-V &2

(b) What is digital signature certificate
(DSC) ?
Digital signature certificate (DSC) e

() What do you mean by total income ?

0 S e 5 gl 2
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(c) Explain the structure of PAN.
PAN 3 5107 7=t 9171 <1 |

(d) Explain briefly about TAN.
TAN 3 RIE 5505 101 41 |

(d) Who are responsible for deducting tax
(e) What do you mean by Form 16A ?

at source ?
16A &=t IE1 R @2 T T TR A RITG TR @9 Sl
(f) Write short note on ITR-1. ]
ITR-1 F 89[F© 53 (BIpl o1t | (e) Write a short note on GSTR-1.

_ GSTR-1 ¥ '€¥% 53 (B! forai |
3. Answer the following questions : (any two)
L

(f) Write the names of any five specified

5x2=10
financial transactions in which quoting
O 259 TR oI ¢ (g 7o1) of PAN is mandatory.
(@) State any five differences between Rtz <liso) Resiw [el e = i ae
E-filing and manual filing of returns, PAN T FIC! LTSI |
E-filing 9% Z%5Ife1e 39 eiferamm wiRke g P . sty thies)
4. A er the following questions : (any three,
e APt Reeicar sAishr A Bt | =
10x3=30
(b) Mention any five disadvantages of T ST B ol 2 (Rt fofby)
manual filing of returns,
(a) Mr. Raghab Baruah, aged 45 years, is
ZFhIeTe 79 A ST nifRe
T Ricercay sfissr employed in a public sector company.
SRR e |
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During the previous year 2021-22, he
received a basic salary of 21,00,000 p.m,
dearness allowance 50% of basic salary,
house rent allowance 340,000 p.m. and
special allowance of 210,000 p.m.
Mr. Baruah resides in a rented house at
Guwahati and the rent paid by him is
230,000 p.m. He maintains a savings
bank account with HDFC Bank and
during the previous year 2021-22,
240,000 was credited in his bank

account as interest.

During the previous year, he had paid
260,000 as life insurance premium and
Z25,000 as medical insurance premium

through net banking.

Compute his tax liability if Mr, Baruah

opts for old regime.
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(b)
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A 7 I8, T 45 ITF A GO1 ISR

ofsiTe T3E | 202 1-22 AREF IHS (SCATS

& v @lfs g 1,00,000 5, TN AE

o TR 50%, ¥ Ol it 40,000 53l &S
e R ©IB1 W 10,000 Tl A | &
77412 S0 @5l OIel TET I T o &AfS
T2 30,000 T ©IG ARCNY FCI | (STLIS]
HDFC @&&F© af Reed {2Hie =g o Q@
SIE 7 2021-22 © 74 AW 40,000 T
ol = |

oraTe S Tt R 60,000 T S et
SR AR 25,000 5 (15 @R art AR
IR '

ofafl 9 T A A TR 2 T

sifme) fAmtae 311

Write a note on various provisions of the

new tax regime.

o 7 T RAPTR RN o CBreel et
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(c) Explain various types of TDS certificates (h) Write \}arious steps of computation ' of
along with their applicability and related total Income.
provisions. I =iy e e Rfer TR o
RfSA TDS certificates RIS IR PITS '
R IRYCTS! S T Rz 31
B | .
(d) Explain the contents of Form 16.

(e) Explain various ways of verification of
ITR submitted by an assessee.

ITR 7iRet et 39 SR stgprrz 3 <=1 |

( Explain various ITR forms used by
different types of assessees. |

Rfen smroiz < =21 Rfw ITR AT
Rt foam ' |
(9) What is E-filing ? Mention four |

advantages and four limitations of
E-filing.

E-filing f%? E-filing 3 BRI AR e sy
AR S w1 |
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Form 16 3 5P 341 31 | ] J.




